CH 105 SI
Session 15

Equilibrium Practice

1. Write the equilibrium expression, K, for the following reactions:
a. 2S0,(g)+0,(g) <-->2503(g)
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b. CaCO;(s) <-->CaO (s) + 0, (g)
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c. H,0(g) +C(s) <-->H, (g) + CO (g)
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2. Calculate K, for the following reaction if you have 0.1908 moles of CO, 0.0908 moles of H,,
0.0092 moles of CO, and 0.0092 moles of H,0 in a 2.00 L reaction vessel at equilibrium.
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-3 W Consider the following reaction
2 NO (g) + 2 H(g) N2(g) + 2 H20 (g)

Determine the value of the equilibrium constant, Ke, for the reaction. At equilibrium, you have a
mixture of 0.100 M NO, 0.050 M Hz, 0.100 M H20, and .090M Ng.

Ve ~ &\'Lﬂz L 2y = [ \00)2 (000} z(.oDx(us(D
C0o k2 {0601 LoD #(002)

A%y

[N 0} D’( 2 §*

AS WOWd
_ 005 - e oo
.. epmsSan
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S M. According to LeChatlier’s principle, what would happen if you increase the reactant
concentration in a reaction at equilibrium?
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(s W, According to LeChatlier’s principle,what would happen if you added heat to an endothermic
reaction? L Aotvemic -
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